

SPRIT

WWW.WINNINGSPRIT.LIVE





ABOUT US

WINNING SPRIT US TO OTHERS, CREATING STRONGER COMMUNITIES AND HELPING TO BUILD A HAPPIER SOCIETY FOR EVERYONE. AND IT'S NOT ALL ABOUT MONEY - WE CAN ALSO GIVE OUR TIME, IDEAS AND ENERGY.





VISION

OUR VISION IS TO PROVIDE FINANCIAL FREEDOM TO EVERYONE ALL ENTIRE THE WORLD. OUR VISION IS TO INCREASE GROWTH WITH GREAT PASSION AND TO CONTINUOUSLY STRIVE FOR EVEN BETTER ACHIEVEMENT BY WHICH GET BENEFITS EVERYONE.





MISSION

OUR MISSION IS BECOME MORE PEOPLES TO MILLIONAIRES AS IT IS POSSIBLE. WE BELIEVE DRIVING THE MEMBERS BUSINESS GOALS THROUGH OUR BEST ARGUMENT FOR HUGE PROFIT IN SHORTEST POSSIBLE DURATION. WE ENSURE NO LIMIT TO PROFITS AND GROWTH.





CASH BACK (DAILY) TO INVESTOR

S.NO	PACKAGE AMOUNT	DAILY %	DAILY CASH BACK	VALIDITY (WORKING)	TOTAL INCOME
1	5,500/-	1%	50/-	200 DAYS	10,000/-
2	11,0000/-	1%	100/-	200 DAYS	20,000/-
3	22,000/-	1%	200/-	200 DAYS	40,000/-
4	33,000/-	1%	300/-	200 DAYS	60,000/-
5	44,000/-	1%	400/-	200 DAYS	80,000/-
6	55,000/-	1%	500/-	200 DAYS	1,00,000/-



CASH BACK (DAILY) TO INVESTOR

S.NO	PACKAGE AMOUNT	DAILY %	DAILY CASH BACK	VALIDITY (WORKING)	TOTAL INCOME
7	66,000/-	1%	600/-	200 DAYS	1,20,000/-
8	77,000/-	1%	700/-	200 DAYS	1,40,000/-
9	88,000/-	1%	800/-	200 DAYS	1,60,000/-
10	99,000/-	1%	900/-	200 DAYS	1,80,000/-
11	1,10,000/-	1%	1000/-	200 DAYS	2,00,000/-



LEVEL INCOME

LEVEL	PERCENTAGE
2	0.20%
3	0.20%
4	0.20%
5	0.10%
6	0.10%



LEVEL	PERCENTAGE
7	0.10%
8	0.10%
9	0.05%
10	0.05%

DIRECT REFERRAL



0.5% DAILY TO DIRECT (REFERRAL)

S.NO	PACKAGE AMOUNT	DAILY %	DAILY CASH BACK	VALIDITY (WORKING)	TOTAL INCOME
1	5,500/-	0.5%	25/-	100 DAYS	2,500/-
2	11,0000/-	0.5%	50/-	100 DAYS	5,000/-
3	22,000/-	0.5%	100/-	100 DAYS	10,000/-
4	33,000/-	0.5%	150/-	100 DAYS	15,000/-
5	44,000/-	0.5%	200/-	100 DAYS	20,000/-
6	55,000/-	0.5%	250/-	100 DAYS	25,000/-

DIRECT REFERRAL



0.5% DAILY TO DIRECT (REFERRAL)

S.NO	PACKAGE AMOUNT	DAILY %	DAILY CASH BACK	VALIDITY (WORKING)	TOTAL INCOME
7	66,000/-	0.5%	300/-	100 DAYS	30,000/-
8	77,000/-	0.5%	350/-	100 DAYS	35,000/-
9	88,000/-	0.5%	400/-	100 DAYS	40,000/-
10	99,000/-	0.5%	450/-	100 DAYS	45,000/-
11	1,10,000/-	0.5%	500/-	100 DAYS	50,000/-

S.L NO	TEAM BUSINESS	REWARD BONUS
1	5 LAKHS	2,500 OR GIFT
2	NEXT 10 LAKHS	6,000 OR GIFT
3	NEXT 20 LAKHS	15,000 OR GIFT
4	NEXT 50 LAKHS	50,000 OR GIFT
5	NEXT 1 CRORE	1.5 LAKHS OR GIFT
6	NEXT 2 CRORE	3.5 LAKHS OR GIFT
7	NEXT 3 CRORE	5 LAKHS OR GIFT
8	NEXT 5 CRORE	20 LAKHS OR GIFT
9	NEXT 10 CRORE	60 LAKHS OR GIFT



REWARD (TEAM BUSINESS)





Thank You

WWW.WINNINGSPRIT.LIVE

